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PART A: Vocabulary

Directions: Cloose the word or phrase (1), (2), (3), or (4) thut best completes each sentence.
Then mark the correct choice on your answer sheet.

1-  The police only belicved me after an cvewitness --—-———-- my account of the aceident.
1) displaved 2} constituted 3) corroborated 4} suspected

2-  The plan is to our ---—---— advantage; we will all benefit greatly from it.
1) concurrenl 2) multual 3) devoled 4y involved

3-  Our organization is committed to pursning its aims through peaceful -—————-- . We totally
reject violence as a means of political change.
1) means 2) instruments 3) devices 4) gadgets

4-  All parents rcecive a booklet whieh -------——- the school’s aims and ohjectives before their
children start their first term.
1) clarifies 2) injects 3) conducts 4) notifies

3 Increasing the state pension is 2 --—--———- aim, but I don’t think the country can afford it
1) redundant 2) diverse 3) flexible 4) laudablc

¢-  The primary aim in sumo wrestling is to knock your ----—-—-- right cut of the ring!
1) protagonist 2) opponcnt 3 releree 4) beneliciary

7-  'The cost of the damage caused by the oil -------—--- will be around 5200 million.
1} spill 2) guilt 3) demerit 4) extent

8  Most of us ——--——- when we hear that many children spend more time watching TV
than they spend in school. 1t°s a rather scary thought.
1) withdraw 2) retreat 3) recoil 4) regress

9-  Even though he isn't enrolled right now, Calvin says he will go to college -----—----,
1) creatively 2) delicately 3) sentimentally 4) eventually

13-  You should aveid driving during the snowstorm because the icy roads are ---—-—-—,
1} superficial 2) frigid 3) perilous 4) cautious

PART B: Cloze Test

Directions: Read the folowing passage and decide which choice (1), (2), (3), or (4) best fits each
space. Then mark the correct choice on vour answer sheet.

When it comes to visually identifying a work of art. there is no single set of values or
acsthetie traits. A Baroque painting will not necessarily {11) -——-------——- much with a
contemporary performance piece, but they are both considered art.
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(12) —=mmmmmmmee- the seemingly indefinable nature of art. there have alwayvs existed

certain [ormal guidelines [or its aesthetic judgment and analysis. Formalism is a concepl
n art theoty (13} —--------——- an artwork’s artistic value is determined solely by its form. or
the way (14) ---emmmmmmm-- . Formalism evaluates works on a purely visual level, (15) ---—---
medium and compositional clements as opposed Lo any relerence Lo realism, conlext, or
content.

11- 1) share 2) be sharing 3) have shared 4) be shared

12- 1) Although 2) Despite 3) Regardless 4) However

13- 1) that 2y thatin it 3) which 4) in which

14- 1) of it made 2} made 3)howitismade  4)itis made

15- 1) are considered 2) considers 3) considering 4) and consider

PART C: Reading Comprehension

Directions: Read the following three passages and answer the questions by choosing the

hest choice (1), (2}, (3), ar (4). Then mark the correct choice on vour answer shecef.

PASSAGE I:

Red was a Japancse naval code created during World War I and wsed until the
outbreak of World War II. The Red code used the additive encryption method. The
code assigned words and syllables numerical values. Before transmissions, these
numbers were encrypted a second time using an additive codebook. 'lhe book
contained a serics of numbery that were added Lo the original numerical message in
sequence. Fach message contained a key that told the receiver where 10 begin the
additive scquence in the book 1o decode the message. Cryplelogists named the code
Red alier the color of the [older in which deciphered codes were bound.

In 1923, a United States Navy intelligence officer located a copy of the 1918
Imperial JTapanese Navy secret operating code in the luggage of a visiting Japanese
attache. The codebook was clandestinely photographed and a special cryptology unit,
known as the Rescarch Desk, was crcaled 1o begin the task of monitoring and
deciphering intereepled messages. At the time, U.S. Naval Intelligenee monitored only
ship-to-ship communications and some radio transmissions in Asia and the Pacific.
The Research Desk team established intercept stations throughout the Pacific and
increased monitoring of Japanese diplomatic and military transmissions,

Cryplologisis worked for [ive vears 1o [ully translatc and break Red, the additive
cipher that the 1918 codebook contained. Intereepls continued o use the aging code,
facilitating the work of 1.8, code breakers. In 1926, Lieutenant Joseph J. Rochefort
accepted the directorship of the Research Desk. Rochetort was a skilled code breaker,
but also fluent in the Japanese language and undertocok much of the translation work
for Red himself. Repeated messages and phrases that appeared 1n several transmissions
helped code breakers recognize various additive decipherments, Three years alier the
anualvsis of Red began, eryptologist Agnes Mceyer Driscoll cracked the code’s additive
cnerypiion key. With the additive key, and the photographs ol the original code book,
any Red code message could be deciphered.
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‘The Japanese replaced Red with a more sophisticated code on December |, 1930,
LHowever, the new code, called Blue, contained numeric paticrns that so closcly
resembled Roed that Driscoll and her team were able 1o decipher and translaie Blue in
only two vears.

According te the passage, Japan stopped using the Red code -—--—-—--,
1) until the end of World War |

2) by the end of World War 11

3) al the starl ol World War IT

43 belore the ULS. could break the code

Why was the Japanese naval code called red?

1) Because the flag of the Japanese navy 1s red

2) Because it nsed different shades of red for coding

3) Because red is a symbol ef the additive eneryptlion method

4y Because ol the color ol the [older lor its deeryvpled codes
According to paragraph 2, the Research Desk ---—--—--,

1’y was a unit used for clandestine photography

2) was found in the luggage of a Japanese passenger

3) guided the Japanese to decrypt their coded messages

4y was created by ULS. intelligenee 1o monilor Japancsc messages
Which of the following in NOT correct according to the third paragraph?
1) Rocheford knew the Japanese language well.

2) The additive portion of the code was broken by Driscoll.

3) Repetition of messages and phrases helped code breakers.

4y After 1918, any red code message could be deciphercd.
According to the passage, translating the bloe code —---—--—--,

1) was not a difficult task for Driscoll and her team

2) was hindered by its numeric similarities to Red

3) did not happen until the end of World War 11

4y oceurred in 1930)

PASSAGE 2:

Controlling access to information systems became profoundly move difficult with the
spread of wide area networks (WANS) and, in particular, the Internet. Users, as well as
interlopers, may aceess svsiems [rom any unatiended computer within an organization
or from virtvally anywhere over the Internet. As a security measure, each legitimate
user has a unique name and a regularly changed password. Another security measure is
to require some form of physical authentication. such as an olyect (a physical token or
a smart card) or a personal characteristic (fingerprint, retinal pattern, hand geometry,
or signature), Many gystems combing these types of measurcs—such as aulomatic
teller machines, which rely on a combination ol a personal identilication number (PIN)
and an identilication card. Sccurily mceasurces placed belween an organizailon’s
internal networks and the Internet are known as firewalls. These combinations of
hardware and software continually filter the incoming, and often outgoing. data traffic.

A ditferent way to prohibit access to information is via data encryption, which has
gaincd particular importance in clectronic commeree. Public key eneryption is used



& dmdeo 622A (Y)Y o8 o ale s

21-

22-

widely in such commerce. To ensure gonfidentialitv, only the intended addressee has
the privale key nceded o decrypt messages thal have been cncrypicd with the
addressec’s public keyv, Furthermeore, authentication of both partics in an clectronic
transaction is possible through the digital certificates issued to both parties by a trusted
third party and the use of digital signatures—an additional code attached te the
message to verify its origin. A type of anti-tampering code can also be attached to a
message to detect corruption, Similar means are available to cnsure that partics to an
¢lectronie transaction cannol later repudiate their participation, Some messages require
additional atributes. For example, a payment in cleclronic cash is & lype ol message,
with cneryplion used Lo ensure the purchaser’s anonyimily. that acts like physical cash.

Which of the following types of security measures are NOT mentioned in paragraph 1?

1) 1D cards 2) Firewalls
3) Lye scany 4) Veriflication codes
According to the passage, in order to allow acecss, ATM machines require ----—--—--,

1}y a mix of personal and physical authentication

2) a combination of a smart card and signature

3) personal characteristics

4y only smart cards

The word “confidentiality”™ in paragraph 2 is closest in meaning €0 ----—--—--,
1) disclosure 2) complexity 3) privacy 4) salety
What is the role of the anti-tampering code as mentioned in the passage?

'} contirming the origin ot the electronic transaction

2) adding attachments to a message

3) recognizing corruplion

43y verilyving both parlics

The author mentions a payment in electronic cash in order to -——------ :

1} give an example of messages that need additional features

2) point out the reduced need for physical cash

3) highlight the importance of using encryption

4y show an innovation enabled by technology

PASSAGE 3:

Much of Ukraine’s intelligence and special operations structure bears the imprint of
the nation’s Soviet past. Both the Sceurily Scrvice of Ukraine (Sluzhba Bespeky
Ukrayiny: SBU) and its principal action unit are based on Soviet models.
Internationally, the Ukraine has come under suspicion as a supplier of materials to
rogue states and groups.

I'ounded in 1991, the SBU took over the old KGIB Ukrainian headquarters in the
capital cily of Kicv, It alse ook on the organization struclurg, in many cases the
tactics, und cven many ol the personnel ol its Sovicel predecessor. Like KGB, it
oversees both sceurity and iniclligence operations, and through its subunit GUR, lights
organized crime, terrorism, drug trafficking. and arms smuggling. Another important
SBU subunit is the action group Administration A, the “Alpha™ unit. Named and
modeled after the Sowviet Alpha unit that attacked the presidential palace in Kabul in
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1979, setting off the Soviet-Afghan war, it has counterterrorism and witness protection
responsibililics.

Despite 1ls slated oppoesition (o terrorisin, Ukraine has been accused (o supplying
materiel to terrorist states and groups. Not only did it supply two helicopters to
Slobodan Milosevic’s Serbia in 1999, but in 2002, it was under investigation by
United States and British arms experts on allegations that 1t had sold sophisticated
Kolchuga radar svstems to Iraq. Ukraing has also been accused, along with Russia and
the regime ol Pregident Alcksandr Tukashenko in Belarus, of selling weapons 1o rebel
armics in Sicrra Leone and Liberia. Western intelligence sources also reported that
representaiives ol Alghanistan’s  Taliban  regime  and  the  errorist  nelwork
al-Qaeda visited Kiev in September 1999, looking to purchase arms, parts, and
training.

What is the best title for the passage?

1) KGB

2) Ukraine’s Intelligence and Special Operations

3) Action Unit of Ukraine

4y Ukraine™s [nternational Relations

According to paragraph 1, the structure of Ukraine's special operations -—-----— "
1) has soviet roots

2) 1s based on modern Russian models

3} 15 built with the supervision of Russia

4} 15 developed under indirect supervision of the Soviet Lnion

The word “it” in paragraph 2 refers to ---—--—--,
1) GUR 2) 8BU
3YKGB 4y Organization siruclure

What is the main function of the second paragraph?

1y Differentiating between KGB and SBU

2) Introducing the structure and responsibilities of the SB1J

3) Deseribing the establishment of Ukraing’s seeurity and intelligence operations

4y Lixplaining how the SBU took over the KI3G Ukrainian headquarlers

According to paragraph 3, Ukrainc has been accuscd of supplying matcerials to all of the
following EXCEPT ------—--—,

1) Serhia 2) Irag 3) Belarus 4) Sierra [.eone

it i 6 6 9

L Jbonigs jond g o 1) s wsulyd (Jg ool oo b g2 ploaly Lomad 5 ygeoar 90l (g5l g9 plas j0 1Y

€05 530 3 g Jol jebea | T
oz (F iy (Y oo lg2S (Y & e (A

a5 ol glaigfay jarie Blaie g aisus il ailnts Olpde a8 ol oamg Jad 5108 alfag s plud gub Y'Y

r!"..h.ifgn I:J""“E— 1; QUIT @L-.n



¥ domiie 622A (Y)Y o8 o ale s

e dhmdd g oo Calls Getwd g pldl g daST Jdody (ol )53)8 ool Fase i Rhe dk plas o
Figdd, ot Lt guuses J'EILQJL»J e Jgisdus g ui\.l'}"-; «E._..&La J-.Ln» 5o als..\.:d..r

S rdpbllanl o Sos (F Slogle-ag5 (¥ e Slaal gleal> (4
T3 10 (g iy ool i 71 5 ) GRS L 1S (010 )18 ddgl (g S Il o o 40 o ol (51
plbin ol g (g 3gSllanl (Y Sasortr g iyl O

ol 45 504 - pemis L5 g4 (F b g ledllel ay o mwa (Y

Sl primn (o) b iy a7 g S i 1 bole el 8590 50 05050 ez sBoad a0 ol
FasS oo Ol (o0 1y 5l il

FoS S = by Sl Akl Pt St = S (Gl g el (8

R By = oS FeCleSy atela (F Pl Sap =y Sl g aals (T

S g il g3 (g ar ol 15T (ygel oS l3a8lis wia yrde g sl jle ol ol sdlsatws g
ol 3 )85 pus 4 by Jaa i slas 93

Cygean (T & e = 2p5lad (T

093 3 (ghet (el 5 A8 s 1 JolSS g sl 4F 4285 IS5 (A5 1gil8 al el yr cCaBlS (8 plas
Yj gl g s olg¥ 20 o a8 AlIMS glraly 51 (g puToledt b axslpllis glaigTay aF sl g UiF, oo Comad

coibd e, (Y 2P e O

wehle sladaia! e (F HA8 g i 8 (T

Lymmo )8 padio glacos ;b g LS gl 50 AST19 9 295095 Glp sl lailojlo a5 29d o (9,8 4 HLS plus o
Cail 3 2gs

gile oy (¥ S5O

clajle unoz (ghelsST (F S5l slad! ¢

Camd co £ 5 (IMinsl) Lot fuedd lpze (Larry Greiner) slojle ol ds o jlals o plad 510w
ka8l JSCF el oy (¥ Sy g alia (T 55 man U

ot 3 tennd g (6310 oty ¢ lnnnd! malin 20 jad 30 (6 0 Ay dllanit e Al g0 gleloli e  Soaloay

Ald e (F Ugama g1 oiiea (1 et yile T a3las (3
€05 55 (0 18 (sonbw 4z )0 o (Loabl o Blad 1 o g5ls (glacs pi

Sasl (F 2l (Y 2l U laegia (Y g U S0 (3

€0 0000 il 5 )%00 ole dz il o b b g dams falsm progdle Cur poo aisl)d 515 0 50, 50

S i didd (F o bk a0 (Y wobajle 656055 (7 e sle cawdas (3

€0 315 50 318 ST 0490 )13l a3 (83970500 G955 (yp70R 1o 3ailKa 5T soliind]  Jlo e a5l
Sl S e (F Sy jzele (F o'l (Y 2l 31 (8

it podguwl widS wudid  Jggm g Fe0 Sluleel b 008 Jlg; slés adds (518131 5l anwa plas
ol (F Sl (¥ & paai (T & lsmean (1

-ty

¥

-¥b

v

-y

-YA

¥4

~F)

=

_fY

—F¥



A amis 622A (NAY) o - caleMls

A lyaog oo g oog I8 555 1 o p iy Sllanil S las 3l Case plat .ol )IKan g u e Jhali Jue g0
Yircw] 83,5 Qdglams slojl g 0

Sbesba odlas (F bl s (7 Sl L, (¥ w5 Jee O

T0 o 00 J1F e 9530 gt plaS (LT )1 3 390T (6o Sl basgio slasi (3o b 5

& (Rl (F o Fai & Ay dnel (F ESLNEAY

£ 9850 w05 00 gy | (655515 adale culed clrpinniw 3 0 330 clas Teliog !l aylo sl 4igRar aF !
sl galolyly plas’ cny

JBadly 2l Sl (F bl ol S ol (F LR 2 i OO
fosle 158 Glejle Fldos dicwds Couws ;0 J A5 (ol 59500 1 £95 6105 50

bl lad > (¥ iy (Y el

Cadl o oylojler 30 (LBgrdSal) ans Uil dusrb coiis s 300 plas

sl calid ol oLRe 4 g ol pae 4 a8 glasl (8

il Tial < %is sy arsbivag s edasbi(

salpasiloalia e g acsld e s el

bl B o putleslsgs vad el

Ol Syl el el oS Lol Silpogias dnr g o Senalivsd (il

Sl (glaptonn (F btz laptn (O

S s 5l g (F glasboss I_Sl-’a’rb-';-»-*-.ﬂ.-«*-I 4

-¥Fh

Y7

-fY

-tA

~¥4

yll 9 8L,

‘F—xf

ﬁ] a6 Ll
(—1,¥) ¢
(—v. 7] @

(-v.v)—i-1) o

[-v.¥]-1 ¢f

Yol plas ¥ = In[

-oY

P aslad ol ot dbos uir oo pi bl el Y (3T o 308 3 ¥ Jol abosr Jhaie o i Al Sy jo  —OF

s dlgs
Y1
A
YY (v
¥



622A

(NAY) o - caleMls

| %
O PSP | ])ﬂ-cm1,n|45{x+;]+{x—;]=r Wolas lga degoms —OY

a4
—. = &
L’ TJ
a9
sy (T

=1 #l
A QY
V(T

s
ax—hb-vx+A-Y
foewl plus maxfa,b} ,luie .ot lim v v
X—a X

V
Gl a8 ¥ = (PX7 —x 1)’ aul oy elfo Toay 5o X0 0 1o

g €|t |- | —
o
et

B o~
-1 —

P
-

Tl plas oy jema b E’:% PI=Y—e0s8) b s pelos fas Al

s

E' |8 2|3 < |3
5

o
—f

oF

-4

-b¥



e dsmine 622A (Y)Y o8 o ale s

" i T
H, (X)) ol 50 a8 oad oo soly iles f(“J(x)=c Y H, (X)) wygon f(x)=e A ol N A e Bl -0V

Yl Sy g5 eand 3b Al ploS el D A po sl o SO
H, (x)-ynH_ ,(x}-yxH,(x)=»
L)+ ynll () + I (x) =< (v
H, X =5nH . (X3 - YxH Ax) =5 %
Pt %) 500 () =YX (X ) =6 F

i _‘F = n & +r . _'1 K; ' e . & . [ =
Cuwl plas B o adly ("F,F) ihii o ¥ =1 (X)) oo o @l b ol F(X) = = KWL g ¢

—FY
Y

Y
v
Sl
£y
Al 0. ¥ =F dmio g F(x,¥) = In(x+fx’ +y7) dg, ablii 5l Juols xio g poles s Aol
Sl plas A=Y, ¥)
dz=—Xx—Y+In¥y O

(f

AZ =X +r+Inyr v
dr=Yx+¥5+Inyy ¢
AZ=—TX—F+Invr (F

Faal plaS Xy = Jalin g, F(x,¥) =27 +y7 & perine
Y ()
Y (Y
Sy
k>

_{f-
v

] 5 0130 303 3les AT il pho Ao g 090 F, o B JF, ¢ F(x,¥,2z}=0 I

—— ==y ()
X Oy 07
ol &F &I
=y Y
X Oy 07
Gz, OX O
P
CxX Oy 02
alr o @l
A e

ax Oy oz

-OA

-5

—-F4



¥ debo 622A (NAY) o - caleMls

T dx
RTLI | Ial..kfﬁ .[ R JU.':..JJJL‘.- —-#Y
VIt =x"|

o {3
In(y++/¥) v
bl
?—ln(YJr\F) o
n
—+In{‘r+\f;) (f
v
Yol oo el glo S hs 3l 050 plad PY
by St (F i 3 stea (¥ ol g palea (¥ orea 3 palae (1
Yl 108 a8ila Al VO 0 9 1T aileo o1 Lo jipeé o7 Ks g0 —FF
Y 0
Yoy
V7 (Y
W
Sl ol s sl oo Ve o (SOLaT sl 10 g slagsly Sas il )ly 58
&
v
Vo
T‘
o
14
— P
A
Hoipy=py N T : - ; '
T g0 ; 2 ose)) e el Ly — Wy gl FAL lawd! alold O (10, HIY0) 33
Hyopy # Uy
Clm dig8e D=0 08
o e oglis | H, ook s e gl s Hos) (0
3 e gl pus o Ho o) (F o sae Ligldl pus o H sl OF
sl il AT €S o0 Lo Jlad 23 505 ot s 2ignd 1oSilen 29 59 bdignd Slod gl 81 b o5 £gudge ol Y
ool me (F Ay 5 galS (V EF e (T G (3
ol yuiz Cov(X,X + YY —1) o557 il Var(X)=1 5 Cov(X,Y) =1 ,51 —FA
¥
v
Yoy

O oF



W oamae 622A (NAY) o - caleMls

Soansl yader MSE(D) 57 Var(B) =1 5 E(B) =0t a5 obar b 8 ;55,018 31 _s4
Y
¥
¥
Yo (F
Wil Var(X) =Y a Var(Y) =1 o g abau b e Bl o g2 X o Y 51 -V
Fowl Jadiz Cov(YX +Y,Y)
Y ()
Y (¥
vy
£ (f
L iRt 3,
G g3 s o Jlio & byl plas -V
goloagyms (F csalagh dcls (¥ sty (1 sl O
Ol oy 390 AT wrdligo =0, Y3 mai Sy Cupd VY
sl 15 g el an  Sge (V sl 3h3 8 Gl 0 g O
Ll 83 5 e a0 gz (F ol o 5 ey (S (F
Tl oo Gl Sl 5 2 i0f Mt a9 030 plaS o VY
b zals 1 eolyl Ao (Y sl als aaes slasd (A
ol amalsd A geliTds a (Pl (o Yo an sal5T da s 4y alsad sldad i (T
Cammn o pate il X > Md > Mo ilglid & 595 S 50 51 V¥
sl 5 (S0t e mged 2 7 el i 395 25 ()
Eoilausila il S ot Jlo g a8 (¥
s i Gmelind ylg o 50 by Sanwgd ditly it Losl 5l a5 210 0Ll el ge oy cpdina plas ¥
fagd oo Lbie
adi¥ s (F e (¥ SN Jysy
il (oS gloodls Joload g a3 gl 38l o ol VP
NVivo (f [LISREI (T‘— MAXQIDA (v ATLASE O
Vo shmeno B2l g 110 fle b (6 5l ¥ Colee 0 1 GBS0 3k Mol 4 bgrje Jlo g (i S 8 VY

Sadls 41,8 X +vs oyt 33 3,lae §f sy i
YFAY O
FAYF (Y
15,55 (%
99,YY (F



W oamao 622A (NAY) o - caleMls

I e el il oyl T sl 3T &5 gladocioy o ey Jai b badsriow 3 018 3l ool cawoas ulis (1

Toandl jl A0 2235 &9 plas il

ol (F Gy e (F a3k (Y Igimes {1
Croal € g3l Jain Lol Gduae o 25 davghs oWyl plas s

(Phencmonology) ol jlasa, (7 (Cthnography) 8% 258 (8
{grounded theory) sl osls (f (Case study) g2 ,es dalllas (¥

F500 ol az womd oo 518 1Sl s 1y a5 Lo glo piio yleo Bl (4l b S 45 (6 il

50 g, 0 ) B St (6 g hintd 1 & g Aigod plas

Soallis (F &' Ao (T ail ol 3 (Y sladgs (3

23 bl pold (B3 slopaani ogF o p 5 008 oo Ll 5ol Slejlee (o il 10 )15 (g9 £ 8)15F 50
S5 eg,F ol claslumiwl algfy diilay Al yoe aF 39l 0 Bhme Lolfod o180 Lof '°JST;,5“ FLLERCI T
Yo plus’ o8 Lol st €008 o g |y £ aicte

Slbojle e i (Y N sy 8988 O

oo Fapde slad e (F SN sloey 5 (8 sla mass (Y

€3y o0 1900 oo Catmnd T 50 coglhas SIlo 5 39290 Sl e SIS

e g i (F ki ol (Y loa ol Y Slaal (1
Fojl0 waST a2 2 590 B0 3 cyloslon 131 (yr Al g slejlon IS 1 Shisiline p Julaxd g 58 plas
Serige o (1 slesas (¥ sy (7 o glome (1
Tl (oo iy o3 5o 5,15 e p2r 2590 ol

b o e dS A8gT 9 s Bile gls, (T Sgdige ateda g pSejlall ulda ()
Sedige p Bl imad gl S5 (F D95 g8 (oaenS s siaite (5,500 Bord (T
Casly oo 8550 paS 31 i Wadaioes 5 31,80 ple ar o oy 3 S0 gl (6 2y ol 3l 3ae

e 2lys (F iare sy (7 hrr 2l (Y 955 bl O
P (on Uil g3y Lonman bl o (ST 29ty 0 1) (i (g2 it (a3 R0 plS

aideal Godont glag o (F o3 sy (F sPsi eldl (7 kel O
P 319 a0 nalgiin (s Larlg; 850 (glas S 0395 & Flimg 3y oo a8l alo yo pla¥ po

& A (F st (F § y9 (1 TR

10,8 es 1A sl (L) mdlily Al Hled 50 (o pow glaony sy Laalls S50

5 et (F o E s L (Y Sl (Y ol (3

blyy pueiy g € ols s0gamme Sy o albdd g Jle Dolge e il bulyy iy Bak 90 oy i sl
Vgl oo aslinud yhagh laS 51 g Jar € oolotnl g omnb glaosony oyloo (o2 poed

iz g o - g0 lS (Y Galir - o, 0

L_‘;'-\'l:‘.“:-f—d‘-*-""'ﬂj g s.h.ﬂ.?u N l:f' Lgd_:._})ls_d.x..\.laj g 5.*.0.?u_ i3 (T’

YA

¥4

—-AY

AY

AY

-AY

-Ad

AP

AY

—AA

Al

_0..



W oamio 622A (NAY) o - caleMls

(sl Cabg pdio jl ol colotol puwlow SYgad

Y ot ks cola t...i..ll.'._\.l Ay L;.uu: Az tuLMs_é-d.ng.&.n -IJ-NBJ ol t:l.c-.‘m.'ﬂr.ts d).c j‘ ol

Sledlaae (F algall s (¥ acdalodl s (Y el -l €3
Pl 148 eSOl Lot 50 o)l CangSor slb e o108 calaudl aers 1919 ala 1,8 4o

Sz g bl L)l (F alls g aae (¥ a2zl )l (7 dalle g 23, )
Fodbls pl aw  lale ) colalw o ja0 W jgcumso pdal

ook (F o5 (7 (s (1 e (3
Tots plondl oo oS lo§ 58 (Sodes @ 5l Calalon peeedd

wsho s oy edzme (Y cshe 859 o )lez pelme O

o 15lpp i doea (F o 5lg pt paloma (Y

Ealil gl Tl ams cstdnaile:ibmand gl sk usie wby o b

e (Y Y. (Y PR (Y AR IR
Tadogs JI5 &y Jyditns bnS' 50 0§l 251 (Gl )5 )15 dloal (o iy YT 400 0

Lyl (Y gl 1)

B el o sl pels (F LT (35 (¥

oy Jlw oz laat 52 (o sy pulers (W Led S udalad 090

ot (F oz ¥ s (T S5

fuds &9 5 (Jloo az 5l olnl 3o Loww pudoee 0593 1yl

Y. (F AR R4 TYYA (Y WYY

Pt g0 O] sy § Nidgy pii di Low elone sl
po e drgi (gt 5 oLl Loyt (o G0 P ()

paye Lrwg paw 53 3 ol Lagd pg Sy R T (Y

pore danigd cowd g old Langd cend o pis Voo (Y

Py Taesd pyes 63 g olo Lasgh o So 23 Ve (T

Ty Bl 5o (pediro caaguad ap Jl 4z 0 el gm0 S azerd

IPEE (¥ VYEE VYEY ¢ WE ()

T’ 2 Blaio oo s5lig 095 )0 JL0 &)ljg e 1 Y 4

fb-L; Al sl (f L_-;‘°L°I |_¢._5J-..:: J.;:.e.z- ﬂu g_'g-CSJ"a GILM (v |..L1_3.£a J.JL.:.;)...p:I {1

o5 99 (SoMe (18 Sl 10 BLS  ontus Cawidd diawigd 8 L (gt ) il 13550 o1
If"ﬁal..unj.;j. J..';_'io =y {r J15Lu ey 1

wrbaaels il plesle S, (F 5955 5 bl ey (F

“3as olyd pluS doge ay rilel wu gal dadsy wtdge cdge o) o

il gleaS (F AL glyed (F oodll (glyad udoa (Y S e el (0

il pb a2 3T oty (i 5 0 il Sl 4 30 Tlgbus
S'5h VYA (F pode _YVYA (¥ & et VYYD (Y JICERSRE o g

-4y

ar

%

-a¥

-44

—ap

Y

Y

-84

—‘Q’

_1‘?‘

1+¥



Y dmmas 622A (NAY) o - caleMls

Cads sl g olay Lo jiommo oyl b & (o 4z o judlin; oj -1ed

YA (F YA (Y PYAY (Y YYaAY ()
CMiser S A0S & Blaio WYY Jlus i o guos s 351,810 Jolo glCS 1 e 1o
PEML e 15, ol (¥ il (F sila (3
Pl aililod cdlad b3 ol plaf ;5 S5 cgdge 4 Col —to¥
U}LEUI k:,"LﬁL\.J n_-""JJ (? 603&01 ."IL..IJI JJ.JE (‘lﬁ )JJE R (Y _J}"“"S- _."‘jﬂ (1\
foalls ol dz podul 5 )300 o) ot (pulgl —1oA
ot bl (Y paanls blea T (4
o) ety ablcod (F T
Clmd oo Dol Jle clyas slacleie pigelas 108
ledal 55 (¥ B e (Y 2545 pe (Y gle nje O

o

foedhy ol as oy oolpeds do a8 ool ML 3 o 25 )1 O pidio ol ey il =410
S olos g5 (F $5558 g (¥ w8 e (7 e 38 g ()

et g o o) b sloadio il

P39 g Jrol CangSor 5 S 2y Sl 1590 33 ol g  angS o5 o pon LS 5 1YY

S en (F Cadal (7 e S gan (Y L
o1 ol dzr vakeog Sl cwbiw ddo 03! jagiio oS —1IY

o] ol (F 0 s (Y las 0 (¥ L Y
i g Belaio oy yoe o 3 ol by i el WY

o ols (F JalFLe (¥ ale alead (F Y Ll (O
FomaaS 4 alate cclodalolaylyd a4y 3 -1VF

5.5....\.4.!}0 (f L aad- D] ('ﬁ" J.'ILI.-‘- (Y J-‘};I (.‘
faylo Cuglsgl ollals  Fha plos «Sladlplla dnles Gyl cidab ;0 118

Cael=d (F LA ;e ¥ Chys (3

Ol Uts azr 4y ol 00 2o il 10 afls algoe -11F

)l e Solaw 1 g paas Yaol a3pe (¥ soacein ousld gl T g albl solis g1l mape O3

it gl Jot ol 2y stalid oo 1) o papa (F il (Faiy Bl 4 53)8 S e e an (F
Sl Lxo s as o318 alo il po andsd dlooe —1VY

sl 3y aled Bos e Dl (Y Al 50 glas B 231 (Y

lss e ot 1 bl saliniity g5y sl saya (F ' paye Sl Guam G4 Faigle (Y
] Ol g gt 3y P10 il s b g o akuly ey ol SUT 40 114

sssmaick =hay mles (T 59 O sl (8
C ol oo der |y abald &y ST ¢ poli M QLS 50 cwa on ol pocti anlas 114

B =l (F Gldle (Y Lad'ed (T ks 0



Vo dedeo 622A (Y)Y o8 o ale s

Yool Jole o8 uaojls cdas | onls L yaads ool coolow it il 4o

L_iowdgi;' (f Laceaar (T bpene Y et 1
og Jole plaS 1A ()8 | olwl palger JSldos (pt Frates T 1S adip il 50

slociwl (F o wilecae (¥ e (Y sz ()
faaliign 4 1y oSl by ol sl (o113

gLt (¥ aals (¥ ol (Y slal (4
s 2 gl 31 03590 1S

o Hais(E acldl (¥ aal $1(Y dubgs (1
Coge dar sl guelorr (8l (80U vl | Lodr s At il D S 5

o Wlocie g bollasl (F o 2 sleal (¥ A e P o
farus b 3 Sdoc p o jlas 4y ibbigo pi gole poye Lo as 400 S5l aeile oo 3l
cdas el gz 4 (8 oo ol gz 4 ()

e 3l a8 5 s Olalill g 4 (F b brwad Gllle Casla g (7

?djksﬁg;wjjiggﬂi;:'ie h\ﬁ‘JJBLé[ﬂ|¢3Q5U|JJtfjéwskééljlﬂiﬁngIdidq'dbﬁhil
e OF 2l e (F Sanis (¥ Slelzl (3

il o a1y | ol olan I 23 ol (gl 5y, 50 ol Jloor des

8 3l sgm (T 15302 O

o ls g AAE e oS (F sl kol aelad 4y ZoaE L (Y
a9 aF oyl el gl wadloghd (9 yisben ¢ Slovie D a1 31 am

a5 Lﬁﬁ;:}::?ug} (v LHLB&”J+§ Jemes {1

Jusl (F et hozme (Y

pLIP RLETIE IR TIEFL ! ) e DI TWEIE I ROEE WY

WS o a3 5ol S ()

AEF LS i dy S e Bl R

i 395 il il 4y 0l ple! ey o 8IS (Y

i3y Syl alSel bt dy Sas s B by onedlSe (F

U351 (oS 4% dyghan puac 53 288 Colg a5 g 75l

sl g (F sl aadls (T Pler ol (¥ &5 e

.

Ty

-y

-1y

-i7F

-1ra

_1vp

Y

YA

-1v4

_1*‘.



